EE 320

onarr /11 fog 69

35510 - 100 sheets
- 35520 - 200 sheets

)2

=

Givew:

/20%“
6o Ha
Fwo: A) f}
SawN
‘ Fwwo T

2: Id-fJ'IZ g B

) e O C FoR unmt 5

1202 = T (o +j17)
= 7 44 L—-5o’z. A’m:

A) FJ:" Ces (94 ‘Oz) = Cas(o - (-—50.2))
0.6 LAGswG

B)  fhve

<'-> we NES Q...

50'

VR""S TﬂMs FF
Izo (7. 68) (0.04) = 570 w
TA:U(SO-Z) = —g—-

G = 708.1¥ vAr

NEED (Qc_\’-’- 'Q\ ANG .- .

Qe TJosd.iy _

——— -

'3°FF

S w Ve, 311 ()T




EE 3726 CHaPT 4l Guwg 1%

35510 - 100 sheets
35520 - 200 sheets

)

@chW?
+ Li= [.5Kw @ 0.707 LA
Totre 120 Vs L L
2.‘-(¢“) Gouz ) *

@ O’Q LAG -

Fiuo A) ‘”5: oF L2 B) ParALe. eremour TO 6eT ["5:""’-7 ¢AG
ToU™

Souwn ¢ Q : - -t
f-r P‘
so, Qv = 12¢ pn Q,= [-Skvar
"~ ya
BsTH ArE
IN DUCTIVE

Q.= Q +Q, =~ A,= 0.3KVAR

5= és (TA~" (5‘0"'3)) = 0.999 LAGGeiNG
- ,

3) Fora r§=o.q Q.r: TM(COJ"(O-'I))

QT = |16 Kvar

S we pNeeo Q.= 0.LY Kkvar

Qe .69

C= 5 \IME . 377 (o)

= JI€ uF
I3 p




EE 320 Curer 11 e 7y

35510 - 100 sheets
- 35520 - 200 sheets

==

)

+
/ Z4KwW Yo kw
|20 Vtms 0.8 LAG 0.95 LG
(s K2 \
Fupt A) '0§ Torwe }3) C pr umwiry f’g

SN A) f-r’ ?; “’f)t | d-r d. t+Q,

18 Kvarl + 3. 1S KvAr

"

So P, = 69kw Q.

31.8 kvare

Ao ﬁ: cvf@A»"(%—:))

= 0.897 LAGNG
/’—-\———

B)  for yniry pf we peo Q= 3LSKvAn

31.§ 5.8 nF
S = -_— - .
> E— 31 (l‘b%" -




